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PAPER-I : QUANTITATIVE ABILITIES Q
1. The compound Interest on a | 7. The base of a prism is a right (175.038cm  2) 5,199
certain sum of money for 2 angled triangle with two sides (3] 1.038em [4) ﬂ-ElEu-n

years at 5% is ¥ 328, then the

5um is
(1) 7 3000 (2) ¥ 3600
(3) ¥ 3200 (4) #3400

2. The height of a cone is'30 ¢m.,
A small cone is cut off at the
top by a plane paralle] to the

base. I its volume be El?th of

the volume of the glven cone,
at what height above the base
is the section made ?

(1) 19 cm (2) 20 cm
(3) 12 cm (4) 15em

3. ABCD s a trapezium with AD
and BC parallel sides. E is a
point on BC. The ratio of the
area of ABCD to that of AED
is

AD BE
(1) Vol (2) T

AD + BE AD + BC
BT 9T

. 4.1f the surface area of a sphere
is 346.5 cm? then its radius

2
[tﬂkhlg R= 2?:[ is
(1) 7 em (2)3.25cm
(3) 5.25cm (4) 9em

B. An Interior angle of a regular
polygon is 5 times its exterior
angle. Then the number of sides
of the polygon is
(1) 14 (2) 18
(3) 12. (4) 18

8. The height of the right pyramid
whose area of the base Is 30 m?
and volume is 500 m?, is
(1) 50 m (2) 60 m
(3) 40 m (4) 20m

5 cm and 12 cm. The height of
the prism is 10 em. The total
surface area of the prism is
(1) 360sqem  (2) 300sqcm
(3) 330sqem  (4) 325sqem
8. In an equilateral triangle of side
24 cm, a circle is inscribed
touching its sides. The area of
the remaining portion of the

triangle is (V3 =1.732)

(1) 98,55 sq em (2) 100 sqg em
(3)101sgem  (4) 95sq em

8. The base of a right prism is an
equilateral triangle. If the lat-

eral surface area and volume is

120 em?; 4043 cm’ respectively
then the side of base of the

prism is
(1) 4 em (2) 5em
(3) ¥ em (4) 40 em

10. Perimeter of a rhombus is 2p
unit and sum of length of di-
agonals is m unit, then area of
the rhombus is

(1) %m”p sq unit

1 g
(2) 7 ™P” sq unit
(3) %fmg-.ﬂa] 8q unit

) %lﬂz-rr?} sq unit

11. A ball of lead 4 cm in diameter
is covered with gold. If the vol-
ume of the gold and lead are
equal, then the thickness of

gold [given 2 =1.259)1s ap-
proximately

12. A large solid sphere 15

and moulded to forg Ed?ﬂii[gi
right circular cones wyy,
radius and height sam 5, th
radius of the sphere, One ﬂ:
these cones Is melted ang ;
ded to form a smaller solld
sphere. Then the ratig of the
surface area of the smaljer |,
the surface area of the larger
sphere is

s 3
(1)1 : 33 (2)1: 92
2 4
(3) 1:a3 4)1:23

13. Two sides of a plot measuring
32 m and 24 m and the ange
between them is a perfect right
angle. The other two sides mes.
sure 25 m. each and the othe
three angles are not right
angles. The area of the plotin

m? is
(1) 768 (2) 534
(3) 696.5 (4) 684

14. a and b are two sides adjacent
to the right angle of a right-
angled triangle and p is the per-
pendicular drawn to the hypot-
enuse from the opposite verter

Then p® is equal to

1 1
(1) @+ b2 @ =
2,2
® = fb,,, (4) -’
15. A conical cup is filled with it
cream. The ice-cream forms 2
hemispherical shape on It
open top, The height of
hemispherical part is 7 cm. ¥
radius of the l'J.-n-:mislilhl‘-‘t'i"’ﬂl]:'3:I
equals. the height of the mner
Then the volume of the !

22
cream is "=T

_#
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) lg'i'ﬂggzbb::‘:‘ 23, The value of 32. Two chords AB and CD of a
Q. Intersect
@1 A circle with centre
(g1 7108 cubleem 5 s Jer M each other at P. If ZAOD = 100
4) 7180 cubiccm fax and ZBOC = 70°, then the value
s the centre of circle whose e %l of ZAPC Is
lﬂ--‘:adlualgsmd B is the centre a”+a’x" +x (1) 80° (2) 75°
circle whose dlameter is 8. (1)2 (2)1 . (4) 95°
ofa (3) BY
|f thesc two circles touch exter- (3) -1 40

nally, then the area of the circle
with diameter AB is

H:IS'E'“ (2)64n
(9) 144 % (4) 256

. e +b*+c?=ab+be+ac
then the value of n.:;c is
(1o (22
(31 (4)-1

l&uuhq-bc-rm:ﬂthm the value

( R SRS ]
of 2 -bc b®-ca b
Is

(110 (2) 1

(3) 3 dla+b+c

18.If {2+J§)a=(z--!§}b=1mm

1
the value of i*‘*‘ is

b
11 (2)2
3) 243 (4) 4

f Serlal ihan Pl
X X

is

o @ 55

28

5
(3) 27 (4) 57

21. The factors of

(2 + 4b? + 4b - 4ab -~ 2a - 8) are
(1) (@~ 2b ) (a-2b+2)
2)(a-b+2) (a-4b-4)

(3) (a+2b - 4) (@ + 2b +2)

M (a+2b-1)[a-2b+1)
-Area of the triangle formed by
the graph of the straight lines
X~y=0, x +y=2and the x-

24.M4x+ 5y =83 and 3x:!2y
=21 : 22, then (y - A equals
(1)3 (2) 4
(37 (4) 11

25.1f x= 11, then the value of

M -124 412080 - 1228 + 12¢- 1 18
(115 (2) 10
(3) 15 (4) 20

26, If p = 99, then the value of
pip* + 3p+ 3] 18
(1) 10000000 (2] 999000
(3) 999099 (4) 980000

27. Two chords of lengths a metre
and bmetre subtend angles 60°
and 90° at the centre of the
circle respectively, Which of the
following is true 7

[Ub:ﬁa (2] a =+2b
(3)a=2b (4) b=2a

28. In a triangle ABC,
LA+~%£B+£C = 140°, then
/Bis
(1) BO® 2] BD®
(3) 407 (4) &0°

2@, The radius of a circle 1s 6 cm.
The distance of a point lying
outside the circle from the cen-
tre is 10 cm., The length of the
tangent drawn from the outside
point to the circle is
(1)5cm (2) 6 em
(3) 7 cm (4) 8 cm

30. If ABCD be a cyclic quadrilat-
eral inwhich ZA=4x", £B=7x"
ZC=5y°% £D=y° then x:yls
(1)3:4 2)4:3
(3)5: 4 4)4:5

1. G is the centroid of the equi-

lateral A ABC. If AB = 10 cm

e then length of AG is
u] 1 sQ unit 732 units EI\E lﬂﬁ
EEquumm i - SRy
4
) None of these (3) 543 cm (4} 1043 cm
- STNE-357

.ABCD is a cyclic quadrilateral
and AD s a dlameter. If ZDAC

= 55° then valuc of ZABC iIs
(1) 55" (2) 35"
(3) 145° (4) 125"

.In triangle ABC a stralght line
parallel to BC intersects AB

and AC at D and E respectively.
If AB = 2AD then DE : BC Is

(1Nz:3 212:1
31:2 4)1:3

ABC 1s an Isosccles triangle
such that AB = AC and AD Is
the median to the base BC with
ZABC = 35°. Then £BAD Is

(1) 35° (2) 55°

(3) 70° (4) 110°

. A man goes 24 m due west and

then 10 m due north. Then the
distance of him from the start-

ing point is

1]17m (2) 26 m

(3) 28 m (4) 34 m
a7

.From the top of a tower of
height 180 m the angles of de-
pression of two objects on el-
ther sides of the tower are 30°
and 45°. Then the distance be-
tween the objects are

(1) 130[3+ Ji]m
(2) 180(3-3) m
(3) 180(v3-1) m

(4) 180(Y3 +1) m

. ABCD 1is a rectangle of which
AC 1s a dlagonal. The value of
(tan? ZCAD + 1) sin® ZBAC 1s

(12 (2)
(3)1

1
4
(4)0
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30.1f tan x = sin 45°. cos 45° +
~ sin 30° then the value of xis
(1) 30* (2) 45°
; (3) 60* (4] 90*°
40. For any real values of 8,

||5cr:ﬂ'—l
sech + 1 =
(1] cotd - cosecd
(2) sech - tand
(3) cosech - cotd
(4) tan® - sech
41. If the sum and difference of two

angles are 135°and 7> respec-
tively, then the value of the

angles in degree measure are
(1) 70, 65 2) 75°, 60°
(3) 45%, 90® [4) BO®, B5°
42.Ina AABC, /B = -;—.a:: %
: and D divides BC internally in
sin Z£BAD
the ratio 1 : 3 then m
is equal to
1 1
1) :E’ (2) N
1
) & 4 Je

43. I 5in 3A = cos [ A - 26%), where
3A is an acute angle then the

value of A Is
(1) 2g° (2) 26°
(3) 23° (4) 28°

. 2

44. Value of sec?0 -%

is
(1)1 (2)2
(3) -1 (4) 0

48. If x = a (sinf + cos6),
iy = b (sinf- cosf) then the value

.1'2 y.ﬁ-
of a—=+g§' is
(1)0 21
(3)2 (4)-2

46. Ifsin 50 =cos 20° [ 0° <8 <909
then the value of 8 is
(1) 4° (2) 22°
(3) 10° (4) 14°

47. Find the least number which
when divided separately by 15,
20, 36 and 48 leaves 3 as re-
mainder in each case.
(1) 183 (2) 243
(3) 483 (4) 723

48, Find the sum of all positive
multiples of 3 less than 50

(1) 400 (2) 404
[3) 408 (4) 412
49, 1f a = 64 and b = 289, then the
value of
1

[\IJE+JF-JFE“JE]E Is

(1)2% (2)2
(3] 4 (4)-2
BO. If the L.C.M. and H.C.F. of two
expressions are [x+ 6x + 8)
(x+ 1) and (x + 1) respectively
and one of the expressions IS
X+ 3x+ 2, ind the other.
(1) 22+5x+4 (2)x*-6x+4
(B2 +4x+5 (4 a2-4x+5
B1. Il the number of items of a set
Abe n{A) =40, n(B) = 26 and
n (ANB) = 16, then n [ALIB) is

equal to

(1) 30 (2) 40

(3) 50 (4) BO
52, .[ga000 is equal to

(1) 352 (2) 523

(3) 253 14) 532

53. What is the smallest number by
which 625 must be divided so
that the quotient is a perfect
cube?

{1125 (2)5
(3) 2 (4) 3

B4. If a distance of 50 m is covered
in 1 minute, that 90 m in 2
minutes and 130 m in 3 min-
utes find the distance covered
in 15 minutes.

(1) 610 m (2) 750 m
(3) 1000 m (4) 650 m

B5. Three men step off together from
the same spot. Their steps mea-
sure 63 cm, 70 cm and 77 em
respectively. The minimum dis-
tance each should cover so that
all can cover the distance in
complete steps is
(1) 9630 em  (2) 9360 cm
(3) 6930 em

STNE-358

56. Find the greatest “_UJ‘-n_-‘-“""‘

will exactly divide zuu.lﬁd““th
(1) 10 (2) 20 g
(3] 16 (4] 40

a ptece of work for 7 575, ﬁa::

C are suppesed to fingy, }_E

of the work together,
ghall be paid to B s - ot
(117210 (2)7 100
(3) T 200 [4) 2 475
68.A man Is twice as fag as g
woman and a woman g twig
ufaalasabnymdulngnmk
If all of them, a man, 5 WOmag
and a boy can finlsh the wirk
in 7 days, in how many days
boy will do it alone ? .
(1) 49 2)7
(3) 6 (4) 42
B9.A. B and C candaajubins
days, 12 days and 15 days rp.

1
spectively. After = of the wyry

is completed, C leaves the job,
Rest of the work Is done by &
and B together, Time taken g,
finish the work is

9 1

1 3
(3) 35 days  (4) 3 days

60. 15 men take 20 da,s to com-
plete a job working 8 hours 2
day. The number of hours a day
should 20 men take to complete
the job in 12 days
(1) 5 hours [2) 10 hours
(3) 15 hours (4) 18 hours

B1. Having the same capacity 9 taps
fill up a water tank in 20 min-
utes. How many taps of the
same capacity are required o
fill up the same water tankin
15 minutes ?

(1) 10 (2) 12
(3) 15 (4) 18

62. Raj and Ram working together
do a plece of work in 10 days.
Raj alone can do It in 12 days.
Ram alone will do the work I

(1) 20 days (2) 40 days
(4) 6950 cm (3) 50 days (4) 60 days
—
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ﬂw‘::,ﬂ‘l"l"“r" wildd e e wl
A Jepats

11 o per giving, o disconnt
| o puall 1hie miarhed pirlee,
o coml g low In

MW i of marked price

(il .;— th ol pnrked price

() -:-Ih of manrhed price

I‘, :Ii-“, il |“|:|rll'.l'-ll |Il|f'ﬂ

A peraiin puirehuned o naree for
H" I;;- 10 after avalllng o nel tin

gounl of ¢ 1200, The prreent:
e of diseount, the sares nhop

alfern, In

=

(1) M;:-‘-'Hl () 145 %

-

L A L

o, A eycle denler oflers i dligeonnl
of 10 and siill snikien i prolt
of 219, Whiat does hie pay for s
pycle whoue miarked price In

r 07
(1) ¥ 600 (2) ¥ (B0
() & 700 (4) T 760

B8, 1f the cost price of in flem In
i At of 1t marked price anil
i1t 16 sold st n discotnt of 104,
then there will hi
(1) 260 profit  (2) AU profil
(9) BO% proft  (4) 1259 profit

07, Prakash lenda n part of T 20,000
ul W mimple Interes and ree

i
malning ul W mnple inler-

eal, 1is Lote) Income after @
ear wis ® 100, 1Find e muaim
Bail il 1M
(1) 1,000 (2) T 12,000
(1) ¢ 65,000 (4) ¢ 10,000
0820 liires of & mixlure contuing
Wk wleohiol wnd the renl wie
ler, 1f 4 Wires of water be nixed
i, the percenipge of wleohol
I the new mixture will be

(1) B _: Wi (2) 10 ‘:: "o

9) 2t

) 12 %

o0, A man divides s property so
thint hils son's ahare Lo hils wile'n
wnd wile's shoare Lo hin
:I:Ii:uhllrl’n ruu- both an in the

o8 b the daughtler geis
v 10,000 lean “IIII"Iu]HhI'I.“”‘IH
vinlue {in rupees) of the whole
jrisperly In
(g 16,2680  (2) 10,000
{9 ¢ 108,200 (A} 17 00

70, There are (wo containers of
equnl capneity, The ratio of milk
iy waler I thie firsl contalner
16 51, i the second contalner
f1 2. If they are mixed up, the
patlo of millk Lo waler in the
mixiure will be
(1) s al (L) 4l | 2H
() 14l {4)4l1¢ 1

71, The wum of two pumbers s
etquil 1o 20 und thelr difference
1 21, The ratio of the two num-

baere In
(ne:7 (2)7:0
(a:n (4)2: 7

72, A man travelled o distance of
#0 ken in 7 hirn partly on fool al
the rate of B kin per hour and
Imrlly on hicycle ut 18km per
i The dislanee travelled on
the ool In
(1) 44 km {2) A km
(23) W0 b (4) 44 km

a4, 'The fregquency distribution dati
i1 iven helow, 1 the uvernge nge
in 17 yeurs, the viilue of m s

Age (In years) c B 2020 20

Number of peaple & 3 am 1
(1)1 (2) 2
(i3) 3 (4) 4

74, The avernge monthly expendl-
fure of i furnily for the first four
monthe s € o170, for the next
three months € 2400 und for
the lanst five months € 3030, If
the family naves T 320 during
the whole year, the nverngo
monthly income of the fumily
during the year in
(1) T B000 () T 3180
(1) T 5200 (4) T ABBO

78, Aller replacing an old member

by a new mer ser, 1L wan found
thist the pverige Ee ol five e
bern ol B0 cluby In the nume an i
wiih {3 years nio. The dillerence
helween Lhe pges of the replaced
und the new members In

(1) 2 yours (2) 4 yenrs
(4) B yenrs (4) 10 years
| BTNE-889_|==

7@, A man spends T 1800 manthly

on an average for the firmt foar
months and € 2000 memthly ferr
the next elght months and saves
¢ HB00 n year. fiin average
monthly income is
(1) T 2000 (2) T 2200
() T 2400 (4) T 2000

77, ‘The arithmelic mean of the fol-
jowing numbers
1,2.2.3.3, 3 4,4,4,4,5.060
6,0 0000 6, 6and 7.7. 7,
72.7.0 7
(1)4 (2] 5
(3) 14 (4) 20

78, The average of six numberns 18
20. If one number 18 removed,
the average becomes 15, What
is the number removed 7
(1156 (2) 35
(3) 112 (4) A5

70, An Ilem costing ¥ 200 is being
sold at 10% loss. If the price in
further reduced by 5%, the nell-
ing price will be
(170 27171
(3) T 175 (471789

80, A shopkeeper buys 144 items at
90 paise each, On the way 20
ftermns are broken. He aclls the
remainder ot ¥ 1.20 each. His
gain per cent correct to one place
of decimal is
(1) 13.8% (2) 14.6%
(3) 14.8% (4) 16.8%

81, There in a profit of 209% on the
cost price of an article, The %
of profit, when calculated on

nelling price is

(1) m%%

(2) 20%
(@) 89 .l!m.
(4) None of these

82, Dy selling an article for T 102,
there is o loas of 159%, when the
article s sold for T 134,40, the
net result in the transaction |s
(1) 12% gin (2) 12% loas
(3} 10% Tosn (4) 15% galin
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ﬁ.?\vatwsmauldatfﬁmﬁ&h 88. Two trains of equal length are (1) 7 400 [2];:5;;"""
One toy brings the dealer a gain running on parallel lines in the (3) T 460 (4) 748

of 12% and the other a loss of

4%.The gain or loss per cent by
selling both the toys is

5
e
[11313 Profit

o) 42 o
(2) 13 Profit
a1 510
(3) 13 Profit

3
(4) 21—3-% loss

84. A sold a horse to B for T 4800
by losing 20%. B sells it to C at
a price which would have given
A a profit of 15%. B's gain Is
(1) F 1800 (2) ¥ 1800
(3) ¥ 2000 4)F2100

85, If each side of a cube is In-

creased by 10% the volume of

the cube will increase by
(1) 30% (2) 10%
(3) 33.1% (4) 25%

86. A reduction of 21% in the price
of an Item enables a person to
buy 3 kg more for T 100. The
reduced price of liem per kg is
(1) ¥ 5.50 (2)T7.50
(3) % 10.50 (4)7 7.00

87, The number that is to be added
to 10% of 320 to have the sum
as 30% of 230 is
(1) 37 (2) 32
(3) 23 (4) 73

88. The strength of a school in-
creases and decreases in every
alternate year by 10%, It
started with increase In 2000,
Then the strength of the school
in 2003 as compared to that in
2000 was
(1) increased by 8.9%

{2) decreased by 8.9%
(3) increased by 9.8%
(4) decreased by 9.8%

same direction at the rate of 46
km/hr and 36 km /hr. The faster
train passes the slower train in
36 seconds. The length of each

train is
(1) 50 m [2)72m
[3) 80 m (4)82m

80. A car driver leaves Bangalore at

B8.30 A.M. and expects to reach
a place 300 km from Bangalore
at 12.30 P.M. At 10.30 he finds
that he has covered only 40%
of the distance. By how much
he has to Increase the speed of
. the car in order to keep up his
schedule?

(1) 45km/hr  (2) 40 km/hr
(3) 35 km/hr  (4) 30 km/hr

91. A train 300 m long is running

with a speed of 54 km/hr. In
what time will it cross a tele-

phone pole?
(1) 20 seconds  (2) 15 seconds
(3) 17 seconds  (4) 18 seconds

92. A man s walking at a speed of

10 kmph. After every km, he
takes a rest for 5 minutes. How
much Ume will he take to cover
a distance of 5 km?

(1) 60 minutes (2) 50 minutes

(3] 40 minutes (4) 70 minutes

83. Aman borrows money at 3% per

annum interest payable yearly
and lend it immediately at 5%
interest (compound) payable
half-yearly and thereby gains
¥ 330 at the end of the year. The
sum borrowed s

(1) ¥ 17000
(3) ¥ 15000

(2) # 16500
(4) ¥ 16000

84. Two years ago, the value of my

motorbike was ¥ 62500, If the
value depreciates by 4% every
year, now its value is

(1) ¥ 58700 (2) 57600
(3) ¥ 57500 (4) 55700

85. If the compound interest on a

Eumfarzl.fcmatm%- p.ais

v 910, the simple interest on the
same sum at the same rate for
the same period of time is

STNE-360

Directions (96-100) :ﬁw.a!fh
company produces four differe,
products. The sa]eufthcsepmdm:
in lakhs during 2005 and 2010 a5,
shown in the following bar g
Study the graph and angye, the
questlons.

v
2010

L]

2005

28
30,7
a7

Wrist Table Stop Wl
watch clock  watch  dlack

86. The sales in percentage of wrist
watch In 2010 more than the
sales of table clock in 2010 was
nearly by
(1) 26.7% (2) 27.7%

(3) 28.7% (4) 21.7%

97. The ratio of sales of stop watch
in 2010 to the sale aof tabl
clock in 2005 s

(1)6: 19 2)7:6
(3)19:6 [4)7:19
98, The sales of table clock in 2005

was less than the sales of wal

clock in 2005 is nearly by

(1) 70.05% (2) 69.05%

(3) 68.05% (4) 62.05%
89. During the period 2005-2010

the minimum rate of increas

in sales is in the product of

(1) Wrist watch

(2) Table clock

(3) Stop watch

(4) Wall clock

100. The sales have increased

nearly 135% from 2005 to 201
in the product of
(1) Table clock
(2) Wrist watch
(3] Stop watch

(4) Wall clock

ﬁ




4. (3)

?

8. (1)

12. (4)
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16. (1)

.%vn
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=
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24. (2)

e
’

28. (2)

B

32. (4]

2

2
#

34. (2)

AL
=

38. (3) 40, (3}

2

a

42. (3 44. (1)

-
=]

|

46. [4) 8.3

ta
W

Bo. (1) 51.(3)| 52.(3)

2

d

54.(1)| B5.131| 56.()

B

58.(1)| B9.(3)| 60.(2)

]

b
B8

51,2 | 82- (4 63.(3) | 64.(2)

=5 (1| 66.1a| 67.011] 68.12

—s5.)] 70-@| 7101 | 72.1)

7.0 | 74.02)] 75. | 78.3

78.14)| 79.(2)| 80.(3)

83. (1)
87. (1)

82. (1)
86. (4)

88. (1)

90. (41| 91. 01| 92.(2)

o4, (21| 95.(4) ] 98. (3)

g8. (2| ©99.(4) |100. (1)

EXPLANATIONS =
1. (3) Let the principal be Rs. P

2
R
LGl = NI R |
. 3 5 It F[[l-r- lﬂﬂ] :l
5 52
2T
=P[[1+1ﬂﬂf l

P
=328 = %IEE

ap:iﬂf_tli“'i,m.asm

%—__

_________-—__.——'-—_—_'_-—'_-'_____-

2. (2)

Let H and R be the height and
radius of bigger cone respec-

tively and hand rthat of smaller
cone.

A

>

" s e

:
=

e ————

From triangles AOB and AMN.
ZAis common and MN | | OB.

.~ Triangles AOB and AMN are
similar,

il e LAl
Volume of smaller cone
= l'r:rzh.

3

Volume of bigger cone

=-1-1L RiH
a

. According to the question,

1 B¢ (e s
-a-nr“h -—[E‘HR H]x =5

R2*H
= Ph=—"
— 27r2h=R2H

27h _R?

oy 1

T

— 27h% =900H =900 x 30
800 x 30

=?hs= 27 =
= h = ¥1000 =10cm
i wﬁmﬂhﬁ&ht =30 - 10

1000

A

=20 cm

F D
EF is perpendicular on side

PlDi-
+ Area of trapezium

; —;-mmﬂcaxm*

L EF
Area of AAED = 7 x AD*
- Required ratio

. [3) Surface area of sphere

= 4nr?

s Ax %2-”“ =346.5
—4Ax22xr?=3465%7

3165=7
== 4x 22

o= J275625 = 5.25 cm

= 27.5625

B. [3) If the number of sides of

regular polygon be n. then
Each interior angle

(2n - 4) % 90°
= n

360°
and each exterior angle = —_—

) mdﬂxwz 5 »360°
= = -—-———-—rI
=[2n-4)=5x4
=2n-4=20
=2n=20+4=24

24
=— =12,
=n=7

8. (1) Volume of pyramid

= % » area of base x height
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SOLVED PAPER-23 —— == |  SOLVED PAp
________‘“‘-za
25 600 = L x30%h Volume of prism = Area of base l[m“- 2
3 x height - P} 8q. units
=500 3 11, (4) Volume of lead
500 = 4043 = — x side? x
=h= S5~ =50 metre ¥ L
¥, height e g
« B H
ypotenuse of base 40,5 x 4 If the thickness ngg]ﬁhcx
o m i side? x height cm, then
= J25+144 = Jieo = side? x height Yo CLaes
- 13em = 160 cu.cm (i) . i,:"g”]:'-_ga}m_m
Dividing equation (i) by (i), 3
. Surface area
=h Bide w20 .« 2 ((2+ X0 - 29)
[a+ b+ :-m-im. S 3
=10(5+ 12 + 13) = 300 sq.cm. 10. (3) D 45};23
1 =79
A.n:aufbax:=2=-cﬁ:-¢12 el T TR I
= 30 sq.cm. ==-IE+.1¢:=E+E=]E
- Total surface area of lateral (8] = [2+47=2%2
surfaces ' =2+x=9xY2
=300 + 30 =2+x=2%1259=2518
=330 sq.cm. A B 4 x=2.518-2=0.518cm
= Side of a rhombus 12. (4) Radius of larger sphere
i = 2 =
8. (1) In-radius 205 " 'f“% o R units
: AR
H—Ej-aéﬁmn ! OA = OC = y (let) # Its volume = =#R™ cu. units
oo *+ AC = 2y units Volume of smaller cone
3 OB = OD = x (let) ;
Area of triangle = —=x (side)® + BD- Brunits = E“Ra e G
J3 From A OAB, Volume of smaller sphere
= T:-:E-ixﬂll LAOB =807
AB? = OAZ + OB? = Lop3
= 144./3 sq.cm. = 144 x 1.732 e 3
-Mguq{lﬂﬁq.{:ﬂ]. =3 T =E+ LF e ii‘ll’a -lﬂﬂa
s 3 i
mﬂm—m: ﬂpﬂﬂ4x2+4yﬂ ---[ﬂ )
ngq-.’ﬁxq-.ﬁ and Zx+2y=m =H3=_R_a
7 On squaring both sides, 4
1056 42 + 417 + Bxy = m? R
=T=15ﬂ.ﬁﬁﬂqa,ﬂﬂ'lq =I‘P2+E.l'_l_,'=l113 qr:ﬁ
Area of remaining part = Bxy=m?- p? ~ Surface area of smallef
=(249.408 - 150.86) sq.cm. B S %[mz_ P4 sphere : Surface area of larg
=98.548 sq.cm. sphere
~98.55 sq.cm. . Area of the rhombus =4nr: 4nR2
8, (1) Lateral surface area of L 4 ACxBD =r*: R?
prism = 3 x side x height 2 R P " %
~ 3 xside x helght = 120 I v =[$;]’“ =1: (¥)
120 nixﬂxxﬁynixéxy
=+ Side x height = 3 132 5
1.1 23 =
=40 sg.cm. (1) = ‘E'HE (m? - p*) =1: [[2 ja] =1:128

STNE-382
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w = —— SOLVED PAPER-23
18 (4 25 i fla2+b2 . Areaof circle =@ =nx6* "
A z 1 7 ;zlacﬁzzaqéﬂung? ab
1 17. +bP+2=ab+bc+ca
Area of AABC = EKAEIBE =1ﬂ=+lf+f.=-ﬂb-bﬂ-m=ﬂ
1 On multiplying by 2,
52 25 ,Ex.ﬁ.c:mb 9a? + 217 + 26 - 2ab - 2bc-
L etre n 2ca=0
m = AB x BC = AC x BD =§+ﬂf-2ﬂb+h“+t?-2bﬂ
= ab= -||In2+b'3 +2+a?-2ac=0
B c On squaring bothxfld:s 5{“-525[&'# D
¥ =% 1= -
24]“31“: ﬂgbﬂ=[nﬂ+h1]p= #ﬂ:b
ac = Jap? + BC? a?p? b-c=0=b=c
-‘uFﬂF -l'_l'—.‘,]_.-ﬂ-#ﬂ'ﬂﬂ
r-ilaﬂa-l-ﬂ-'ln a’ +b . ___I,'l-l--f."__ﬂﬂ_z
b a

= J1024 + 578
= Jlﬁm =40 m‘:tﬂ:
+, Area of AABC

,%xﬂﬂxﬁﬁ

i 1 w24 %32
2

= 384 sq. metre
Semi-peri meter of A ADC (s)

95 + 25+ 40
ol 2

:E:;ililﬁmﬂtfﬂ

+ Area of AADC

= [sis-alls=blls—c)

= J45(45-25)(45 - 25)(45 - 40)

=,f45xzﬂx20x5 =20x 15

= 300 sq. metre
« Area of the plot = 384 + 300
=684 sg.metre

14. 3) A

AN

Volume of hemisphere = -z-'ﬂl'a.
Where r=radius =7 cm.
2 22
= [EKTKTKTHT] ©u.CIm.
Volume of conical parl
= "'l;ﬂrzh
3
[.’. r= h]
1 22
= [Ex?x?x?x?) Cu.C1m.

» Volume of ice-cream

= 1078 cu.cm.

16. (1) "‘
VA,

Diameter =AB=8+4
= 12 units

12
Radius = 5 = 6 units

18. lljln,h+br:+m:=ﬂ
=¢nh+m=~tx:
. - bc=a*+ab+ac
=ala+b+d
Similarly.
B —ac=bla+b+d
E-ab=cla+b+d
D S SRR
"2 _pc bl-ca c-ab
T oL
= Qla+brc) bla+b+cl cla +b+c)

1 [1 1 1]
— —
[a+b+eclla b ¢

1 (Pc+m+ah]

= a+b+c abc
= 1 H-u—=ﬂ
a+b+c abe

10. (4) (2+-J§]a=[2-J§j}h.—-1
1
~as 3308

—1-=2+J§
a

stmilarly,
1
b= 3__ TE

o=

STNE-363 —
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On cubing both sides,

%8 +ia+3[x+l]=L
X x) 27
1

1 1
=xe S INg e

-"Ca-l-—:!——l-l=i
= 27

x3
(1) @® + 4L + 4b- 4ab-2a-8
=a*+ 4 - 4ab- 2a + 4b- 8
=la-2b2-2 (a-2H -8
Lﬂt l:ﬂnﬂﬂ =X
. Expression = 22 -2x-8
=xt-4x+2x-8
=x(x-4) +2 (x-4)
=(x-4) (x+2)
=la-2b-4)(a-2b+2)
(1) On putting x=01n
x+y=2,

21

O+y=2=y=2

~ Point of intersection on y-
axis = (0, 2)

Again, putting y=0inx+y
=2,

x=2

. Point of intersection on x-
axis = (2, 0)

x - y = 0 will pass through
origin and be equally inclined
to axes.

Y

.

0O D A20 "
On putting x=yinx+y=2,
dy=2=y=1

s CD=1

OA=2

5

2

Area of AOAC = 5 XOAXCD

= %xﬂxl = 1 sq, unit

1 1
@ a? + ax + x? EE-WH‘X,
2ax
e G P
a* +a®x? + x
a?-ax+x*-a?-ax-x*
= (@ +ax+2)a® - ax+x°)

2ax

+
a*+a%x? + x°

=2ax

T at+ax?+x?

2ax

+ s A A=
PO T ek

& odx+5y=83
=4xTk+5x 11k
= 28k + 55k =83
= 83k=83= k=1
sx=T,y=11
AY-x=11-7=4
(2) x= 11 (Given)
A= 12x4 1228 - 1222 + 12x
-1

=011+ a4+ (11 + 1)a2 -
(11+1)2+(11 + 1)x-1
=x0 - 11 -4 + 1103 + 28—
1122+ 11x+x-1

When x=11,
=115-115-1144+1144 113
113-112 41124+ 11-1=10

83

« (3) p=99 (Given)

=~ pP*+3p+3)=p*+3p2+3p
=pP+3pP+3p+1-1
=p+1P-1=(99+1)3-1

= (100)°- 1 = 999999

| SOLVED PApgy .
27. (1) oo

A B

Radius of circle = runys
In AOCD, £COD =gq°
~» CD? = OC? + OD?
=bP=r+rR=2~_)
In A OAB,

OE LAB

Z0AB = 80°

28. (2) LA+ ZB+ £C=180"..10

ZB
LA+ ? + 20 = 140° .01

By equation () - (i),

STNE-364

£B
—2— = 1807 - 140°
e
= ZB =80°
o
B
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—
OB = 6 cm 3. (2) # £ZAPC = 180° - 50° - 35°
OA= 10 cm = g5
~/OBA=90° A 33, (3)
~AB= Joa? - OB?
= J10? -6 =100-36
= EE =8 cm -
30. (2)
c
O
AB = 10 cm
BD =5 cm In AACD
<ADR = 90¢ £DAC =55
ZACD =90°

.D

The sum of opposite angles of
a concyclic quadrilateral is

1807,

s ZA+C=180°
= 4x+ 5y = 180° -{1]
£B+ /D =180°

vee (1)

= Tx+ y= 1807

By equation (if) x 5 - (i,
a5x + by = 900°

4x + 5y =180°

== - -

3lx =720

'_?_EE

31

From equation (i),
Tx+ y= 180™

X=

=Txl:'li+y.1au*

s~ AD= fap? _pp?
= J10% -5% = J100-25
= J75

=53 cm

2 2
AG = E’J'I-'lr- EKEJE

(The angle subtended at the
centre is twice to that of angle
at the circumference by the
same arc)

Again, £BOC = 70"

(]
.-.,.{Eﬁﬂn%' = 35° = SPAC

STNE-365

£D = 180° - 55° = 90° = 35°

4+ SADC = 1B0°

=3 ZABC = 180° - 35° = 145"

34. (3)

BD = DC

AB = AC
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. mB- mc:gﬂ” '_ s H’C:ED""‘DG Dﬂﬂdd.ll‘lg _\Q
ZABC = 35° A+B+A-B

= 1803 + 180
In AABD, r =135"+ 15°= 150°
=180 (/3 + 1) metre
) 38. (3) = 2A=150°= 4. 150
». ZBAD = 90° - 35° = 55° ' S R AT
38. (2) A L +A+B=135°
= B = 135°- 75° . g
c North
42. (3) A
West East B ¢
ZACD = 45°
ZBAC = 45°
sh Hoth - (tan? ZCAD + 1).sin? ZBAC
A = (tan? 45° + 1) sin? 45° 5
ZABRC =90° 1P i D t
AB = 24 metre , BC = 10metre =[1+1}H[T] =2dX=m]
. AC= Jag? 4 BC? 89. (2)tanx = sin45°.cos45° T3 74
i 1’2421'1':'2 + sin 30° ED 1
and $& =3
= J576 + 100 = 676
From A ABD
= 26 metre
37. (4) BD __AD
sinBAD sin ABD
= =D = AD
sinBAD %
3
,_BD _4AD
sinBAD |3
2
=AIJ~£ e
AD is tower and B and C are _ [l-cos8 _ [(i—cosB)(l - cosh) ~ 2 'sinBAD ™
two objects, Y1+cos® Y(l+cos6)(l-cosh) e
ZABD =30° and ZACD = 45° ‘“”;“:’h“ﬂ:mﬂ the t‘:—‘ﬂmrﬂtﬂf 5 i
an € denomina =
AD = 180 metre sinDAC sinACD
From AABD, 5 2
‘:J[l noa:.'] =Ji1~—m:ﬂ}3 - CD _ AD
o -
! . *l-maﬂz 1 _'msﬂ . 2
B Ly o sin@  sin® sing S AN~ "L
=5 BD i = AD = 75 SinDAC
= BD = 180./3 metre 41. (2) Let the angles be A and B From equations N
From AADC, where A>B E BD 1‘_%
_ AD ~A+B=135° g'mnm'jfﬂ“
v and, A~ B &
150 A_n, 180 sinBAD _ 2 B8
=1=pg = DC= 180 metre IR e Y =’amrmc_:;' 5
2
— STNE-366 — rove ﬁ
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ﬂﬂm:ﬁxﬁxl s LCM=2x2Zx3xDx3x%4 I 51. (3) nfawB)
= ZnDAC 3 =720 = n{A)+n(B)-nlAn B)
. 1 .~ Required number = 40 + 26 -16 =50

- 48. (3) Sum of all multiples of 3
ﬂ.[ﬂﬂm‘g‘ﬁ‘mm 2 upto 50 N
~, cos (90° - 3A) = cos (A—26°) P
#Qﬂ"raﬁ=ﬁ"256 =346+ .. + 48
ﬂmn+zﬁu=3ﬁ+h "3[1+2+3‘|’-...+1E]
sAw 116 16016 + 1
= 116 -ELEE—H"=31:B:<1‘?
sA=—3 =29 =408
sin®8-2sin*@ [ En[n+1]]
e ll]ﬁrzma‘&—msﬂﬂ cl+ 243+ A ==
mﬂau__zsmﬂﬂj 49. (1) a=64and b=288
=860~ L ,s2p(2c0s?B-1) ~ Ja=+64 =8and "
sin? 01 - 2(1 - cos? 8)) Jb =280 =17
L cos2B(2cos? 8-1) 3
taid (2cos®08-1) (J£+F-J£r£)“
i 2cos20-1 ' :
.-!ﬂznﬁ-tﬂfl:B:l 2
45. (3) x= a (sind + cost) and = (8417 - 17-8)2
y:b[sjnﬂ—m&ﬂ]
1
& 1
—=ﬂ-lﬂ H = -— 2
=2 8+ cos@ and {-."ig Jé_]
¥ A 1 24
b sinf —-cosd ={ﬁ—3}2=[2}2
2 ﬁ BO. (1)@ +6x+B=x2+4x+2x+8
FHF = (sin® + cosB)? + =xix+4)+20c+4)
[sinb — cos6)? =x+2)(x+4)
= 8in28 + cos?0 + 2 sinB.cosl + B48x+2=2+2X+X+2
8in3f + cos?@ — 2sind . cosd =xlx+2)+ lx+2)
= 2 (sin?8 + cos?6) = 2 =[x+2) (x+ 1)
48. (4) sin 50 = c0s20° First expression x Second
= sin 56 = sin (90 - 20) expression = HCF x LCM
=sin 70° = (2% + 3x + 2) x Second
=50 =70° expression ;
70 ={x"+Ex+E}{x+ 1}x{x+ 1]
aa:'ﬁ' = 14° = (x + 2) (x + 1) x Second
7.4 ssion
Lr]f;‘f:;"’:s':’;‘b:; v - e+ 2) (et 4) be 1) e+ 1)
il | Lo = Second expression
2115, 20, 36, 48 4+ 2)(x+ N+ Nix+ 1)
: 15, 10, 18, 24 = x+2)x +1)
o b 8 13 =(x+4) (x+ 1)
5 5 3 4 =@ +4x+x+4=2324+5x+4
L. L 3 4
S [ STNE-867

=720+ 3= 723

6 4008 | 253
4
240
225
1509
1508

B2. (3) =2

2
45

5 | 625
5125
5| 25

5

525=5::5x5:<5=5’x5
For the smallest cube number,
625 should be divided 5.
625+ 5=125=5°

. (1) Distance covered in 2nd
minute = 90 — 50 = 40 metre
Distance covered in 3rd minute
= 130 - 90 = 40 metre
- Required distance
=50+40x 14
= 50 + 560 = 610 metre

. (3) Required distance = LCM
of 63, 70 and 77 cm.
= 6930 cm.

Miustration : 7|63, 70, 77

|9, 10, 11

LIlCM=7Tx8x10x 11
=6930

. (4) Required number = HCF of
200 and 320 =40

Niustration :

200) 320 (1
200
120) 200 (1
120
80) 120 (1
B0
40) 80 (2
80

b4

@l‘.";‘?&.

rl
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B |

57. (2) Work done by B
1219 _23-19 4

- —
= —

23 23

; i1, 4 .
,.[P.+C].B-23.23 19: 4
< Sum of ratios = 19 + 4 = 23

& B's share

i
e T
23 =Rs. 100

B8. (1) According to the question,
1 man =2 women = 4 boys
» 1 man + 1 woman + 1 bay

=[4+2 +1] boys = 7 boys
~M,D,=M,D,
=TxT7=1xD,
=D, =days

§9. (3) Remaining work

=]= =

1
8
(A + B)'s 1 day's work

7
- Time taken in doing B part

7 7
= =i s —
of work 8 3

1
80. (2)M, D, T, =M,D,T,
=15:20:<8=20:¢12HT,

Do 15% 208
1T 20%12

61. 2} M, D,= M, D,
=Il9x2ﬂ=]||[zx15
2x20
=M, = —3=—=12 pipes
Note : Same relation as men
and days is applicable
62. (4) (Raj + Ram)'s 1 day's work

1
T 10

=10 hours

1
Raj's 1 day's work = 12
s Ram's 1 day's work

10 12 60 B0
». Required time = 60 days
83, (3) Marked price = Rs. x and
cost price = Rs. .
-, 50% of x = 90% of Y

xx50 uyx90
100 100
_XxXx50 _ 5

50 Rs. Ex

=)

—

5
= Etha[mm‘lmﬂ price.

2

(2) Marked price

=Rs. (7710 + 1285)
=Rs. 8995

Il discount = x %, then
x % of 8995 = 1285

BO995 % x
T T

= 1285x100 _ 100
8905 7
68. (1) C.P. of cycle = Rs, x

- HDHE?— = ﬂ
100 100
= xx]126 =840 % 90
- B840 %90
126
66. (4) Marked price of article

=Rs. x

=14=%

=1|8a

= Rs. 600

+ C.P. of article = Rs, Eéi

S.P. of article = XX20

__‘-H
Gain

». Gain per cent = % log
__'-'-E-:-';;__‘_

x

—x 100
_ 3 =5x1{]-u
ST T 4

e

5

=125%

87. (1) Amount lent at mmm‘
interest = Rs, x

. 4
& Amount lent at 3% Tate
of interest = Rs. [EU.DDG-;}

& 8lL= '—E]_'—‘—\FHM1 > Ralex Tine

100

o XXBx1 (20000 x)x 2
100 100
= 800

H+ 20000 = x .
25 75 E

=3 Bon
Bx + 20,000 - x
= 75 -
= Bx+ 20,000 = 75 x 800
= 60,000 ;
= D= 60,000-20,000 = 40,000

40,000
5 = Rs, 8OO0

800

=S x=

68. (2) In 20 litres of mixture,
20x20
100
Water = 20 - 4 = 16 litres
On adding 4 litres of water
Quantity of water =» 16+4
=20 litres
Quantity of mixture = 24 itr®
-+ Required per cent

4 ‘50 .2
= "ﬁxlﬂﬂ= '-é-"-"ms

89. (1) Son : wife =3:1=9:3
Wife : daughter =311
- Son : wife : daughter
=9:3:1

Alcohol =

= 4 litres

_—_-'—"-"-‘:
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ﬁ=9+3*1=13 From equation (i), Total annual income
iftotal wealth be Rs. x. then 22.5 +y = 25 = (23200 + 5600)
.Eshm-daughtﬁ"a share =y=25-225=25 = Ra. 28800
_Rs. 10,000 ». Required ratio =22.5: 2.5 = Average monthly income
9x _ * _10,000 by _ 28800 _ .. 2400
=73 13 72. (1) Journey on foot = xkm 12
G X Journey on cycle = (80— km | 77. (2) Required mean
_ 9% 210000 R
13 _£+Eﬂ—x___? I1xl+2x2+
— 8x=13,00,00 8 18 +5x5+8x8+7x7
13.00,00 = T1+2+3+44+5+647
(13990 . rs. 16250 2x480-x _,
s A 16 1+44+9+16+25+36+49
Tﬂ-lﬂmpaﬁt:"ﬂfmhmnhmﬂ = x+80=16x7=112 - 28
| = x litre (let] = x= 112 - 80 = 32 km. .
| Infirst container, 73. (1) Required average 28 o
| ax 78. (4) Required number = sum
! Milk =—; litres, - Bx3+20x2+26xm+29x1 — e o e
4 = S iris] six numbers - su
[ - numbers
i mm:;‘lﬁh’e& =1?=2‘4+4ﬂ'+25m+29 =fGx20-15=%x5
In second container, S =120-75=45
=517 (5 =93 +:20 nt 79. (2) First S.P. of article
Hﬁ__ﬁf_“m =102 + 17m=93 + 26m
| O ' = 26m- 17m=102 - 93 _ 200x80 _ = 120
2 =9m=9=m=1 100
| Water = letrc:a 74. (2) Total annual expenditure After decrease of 5%,
of the family =Rs. (4 x2570+3
- 180x85
On mixing both, ® 2490+ 5 ».3030) SP = 100 =HRs. 171
3x bx =
Quantity of milk = — =+ IR HIO280° 470 4 10100) 80. (3) 20 items are broken out of
=Rs. 32800 144 it )

_21x+20x 4lx Htres Total income
28 28 = Rs. (32900 + 5320)
0 X 3 2x =Rs. 38220
Wy ALwml g T = Required average monthly
7 38220
= -1'21'331 i %Hﬁﬁ income = 12 =HR=s. 3185
“ Required ratio 75. (4) Increase in ages of five mem-
41x  15x : bers in 3 years
28 'EE=41‘15 = (3 x 5) years = 15 years
n'p}mmmgmmxanﬂy As average age remains same,
X+ Yy =25 . Required difference = 15 years
“=y=20 78. (3) Total expenditure of man
On adding, in a year
2c=45 = Rs. (4 x 1800 + 8 x 2000)
oy 45 = Rs. (7200 + 16000)
Xz — = .
2 = Rs, 23200
a8 STNE-369

s C.P.of 124 items

[144:90)
=R.'!-. IDEI =R‘E. 129.&0

Total 5.P. = Rs. (1.20 x 124)

=Hs. 148.8

~ Gain =Rs. (148.80- 129.60)

=Rs. 19.20

- Gain per cent

19.20
= IEB.EDXIW = 14.8B%
B81. (1) C.P. of article = Rs. x

120x Gx

S.P = 100 = Rs, 5

Bx =
Gt s g DT

5 5

=
TS s T,
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For B, =32+ x=869 _—--"""M

X
- Rﬂ- ==y - - =
5 - DN} — e A Do Aty
» Gain per cent o 100 : 88. (1) Increase In first yeq, =1
Galn B's profit = Rs. (6900 - 4800) Decrease in 2nd year » ygq,
=Sp % 100 T I— Effective result
x 86. (3) Single equivalent increase _ [m_lu_lﬂxlﬂ]
= 2-x100 = 50 1624 for 10% and 10% 100 |%
x 3 a
e =-1%
B [m+1u+ mxm]% 2
. =21% Increase in 3rd
82. (1) C.P. of article 1ha : year = on
100 Again, single equivalent in- = Effective result
= 100 - Toss per cent ~ > crease for 21% and 10% ) [m“h 10x1
s [:znmq.m 0
= T00-15 102 =Rs. 120 - 100 = (9~ 0.1)% = 8.9%
Gain = Rs. (134.4 — 120) Nnti]ﬂ: Volume of cube = = xmetre
=Rs. 14.4 ([Edg Relative speed =46- 36
»~ Gain per cent Hence, formula [x+y+ﬁ% = 10kmph
14.4 5
" ..iﬁglm = 1204 should be used twice. - [lnx—ﬁ] m/sec
88. (4) Original price of article
83:/13). &P, ol fiest toy w Bs: x = Rs. xper kg. _ 325 m/sec
C.P. of second toy =Rs. y Phic 9
o xx112 New price = Rs. 755 per kg ~ Time taken in crossing
100 . 100 100 _, ) Length of both trains
504 x 100 il T Relative speed
it T T T i 100
96 10000 100 =36= 2%
AL 0L LY
AgEE, U 00 =92 o T =y
504 » 100 10000 - 7900
i 96 e . By e 79x =3 -—-:2.:::35:-:% =100
Total C.P. = Rs. (450 + 525) 2100
= =——=3 100
= Rs. 975 TOx =bx=—§-=5[]ml!h't
Total S.P. =2 x 504 ﬂﬁ= 90. (4) Distance covered by car’t
= Rs. 1008 T9x 2h
Gain = 1008 - 975 = Rs, 33
= 79x= 700 = x= - 22 _ 300x 40 -
Profit g A = i e
percent = ———— :
975 * New price Remaining distance
-3 354 FA0K L 70 700 =300 - 120 = 180 km
13718 100 100 78 Remaining time = 4 - 2
84. (4) For A, =Rs. 7 perkg =2 hours
o6 87. (1) Number to be added = x 180
. C.P. of horse = 4500:"-5 [I.Et]' * chum 3pﬁﬂd= --i-‘
320x10 230= 30
= Rs, 6000 . 320x10 23030 <
“ oo X = 100 90 kmph
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Rate = -i‘lﬁ per half year

m:ZhaH?cm

v h [[1 *TuR'E]T _1‘
[z
”:[l_;a]’-xl

K‘

95. (4) Principal = Rs. P (let)

- AT
& ClLaP [Hl_nﬂ"] L

'1 25 ¥
=510=P|("* 200
1 2

=510=P [“'E) A

-23_1
= 510=P|| g

Mn\rﬂ“"’ 3 o |  SOLVED PAPER-23
120 s
- 120 2 81
grlglﬂjgpcedﬂfﬂﬂf 2 Ex[[%] _1] :510:?[5']
! =60 mph Bl1-64
- _ increase in speed _ x(lﬁal __1} =510=F | T g4
"m-eaﬂﬂ il 1600 -
=
54“5 _ 1600 1600 810564
2 _—| m/sec = 15m/sec = p= ———— =Rs. 1920
=718 Difference « S1X. _ 3% 17
pedutred time 1600 100 e,
!Egljnt‘uﬁ:m = Blfgc:}ﬂx Principal x Time x Rate
= 5pe¢dﬂft1'ﬂiﬂ = 100
=Rs = 1920 %2 % 25
300 " 1600 - =" = TRs.480
iy =120 seconds L. 100x2
o =330 96. (3) Number of wrist watches
nmmmkmmmvmngﬁ 1600 sold in 2010 = 28.7 lakhs
' 1
s 'i% _-_% hour = x= ﬁ“+;33§ =Ra, 16000 Number of table clocks sold in
2010 =22.3 lakhs
uﬁﬂ'ﬂlln'UtH B4. [2} Present worth of bike - chtﬂredpﬂrcent
That person will take rest for T »
=P[1_£] _(287-223) 46
four times. 100 223
. Required time " -
= (30 + 4 % 5) minutes = 82500 [1-——4— = ——x100 = 28.7%
100 223
= pncies " 97. (4) Required ratio = 3.5 : 9.5
83, (4) Amount borrowed = Rs. x =E~25m(ld~l—} —7:19
& ibstEeE 10 158 wiaitdl xx3 = 98. (2) Required per cent
160 25-1)2 307-95
Re, 3% =62500 | =35 =" s07
P
@ 6250024 x 24 212x100 oo
Case I, 25 % 25 30.7
=Rs. 57600 29. (4) Here, decrease is evident

from bar dlagram.

Wrist watches : 21.3 = 28.7
lakhs .

Table clocks 9.5 =22.3 lakhs
Wall clocks 30.7 =2 32.7 lakhs

100. (1) Percentage increase in the
sales of table clocks

. (223 -95)
85

128
= -E-ﬁ—xlm =135

=100

|




